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C 33354

Given the pid.f of hx, forD<x«1
T random varighie X, f(x) - ) & forlecxeg
ke + 3k, for2<x<g FOd Ok (b P
0, elsowhere

Given fr:}m{ e x>0
0, ﬂlhﬁmigﬂ 4s the p.olf of X Obtain the pd.fof ¥ =aTE

{4 x 6= 24 marks)
Section E

Answer any two questions,
Each one carries 10 marks.

Defing cocfficient of variati B ; £
dver N eiks riation. 2 cities shows the following prices for a particular comm odity recorded

City A s 20 22 19 22 23

City B : 18 12 10 20 15
Compare the consistency in the prices for these two cities.
(i) Write a note on correlation.
(ii) Show that Pearson's coefficient of eorrelationr Fays 18 iIndependent of linear transformation.
(i) Define conditional probability.
(i1} State and prove Bayes' theorem.
Given the distribution function of X as,
0, forx<0

J £ JJorOsx<1

Fx)=1 2
—;~+M4x-—:n“ -3), for 15 x <2

1 forx =2

(i) Obtain the p.d.f. of X.
(ii) Find &.
1 3 : :
(jii) A and B are events denoting [E < R{EJ and (X >1) respectively. Verify whethe

A and B are independent. (2 % 10 = 20 marks
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